HORGANS

Assembly Instructions

TIGHTEN BY
HAND ONLY

DO NOT USE
POWER TOOLS

ID Description QTY

A %@ M8x40 12

B D 17x D 8x2 2

c ey  M8x85 2

D ﬂ 6mm 1

E % 2

. ®© M8 2

G \ M8x95 2

H % 14mm 1

d D @38 2

J Ty M4x25 6

K & @ 8x30 2

Luna Il Console Black horgans.com.au



